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1. Determine the horizontal tangents
2. Determine the vertical tangents.
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x = tcos(t)
y = tsin(t)
0<t<1

3. Determine the exact length of the parametric curve.

‘ LIRS
Q

%. = Snd) +tak&*) V

\’ (‘1)14(5‘)1. — { L +&2
{

v S 6 TV
Jo

Vv
™iy Sub
€= -han&; dt = Secho dQ
v’
IH“‘; = Seco® G=1C
l-‘-
N opee. (gegc dans + Wl Sece + -uw\w\] l

S= S Sec®>e d© = e =0

AL Vv

= I ﬁ,‘\'\) 5
= 5 3
/ v




y = 3t2
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4. Determine the exact area of the surface by rotating the parametric curve about the X-axis.
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r= cos(g)ande =n
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5. Determine the slope of the tangent line to the polar curve.
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r =4+ 3cos(6)
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6. Determine the area enclosed by the polar curve.
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r = 3 - 3sin(6)

7. Find the exact length of the polar curve.
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